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-XGXO�6NULSVL � 5DQFDQJDQ 3HUEDLNDQ� 5HNUXWPHQ� GDQ� 6HOHNVL� .D\DZDQ�

/HYHO�2IILFHU�GL�37�/DMX�3HUGDQD�,QGDK�7EN�

3RNRN�3HUPDVDODKDQ �

3HQHOLWLDQ�LQL�EHUWXMXDQ�XQWXN�PHQ\XVXQ�UDQFDQJDQ SHUEDLNDQ UHNUXWPHQ�GDQ�VHOHNVL�
NDU\DZDQ�GL GHSDUWHPHQ�+XPDQ�5HVRXUFHV�OHYHO�RIILFHU 37�/DMX�3HUGDQD�,QGDK�7EN�
'LSHUOXNDQ� SHQ\HPSXUQDDQ� UDQFDQJDQ� 5HNUXWPHQ� GDQ� 6HOHNVL� OHYHO� RIILFHU� \DQJ�
WHSDW� XQWXN� PHQGDSDWNDQ� VXPEHU� GD\D� PDQXVLD� EHUNXDOLWDV� \DQJ� QDQWLQ\D� GDSDW�
PHQ\HOHVDLNDQ� PDVDODK� GDODP� PHODNXNDQ� SHNHUMDDQ\D�� MHQLV� SHQHOLWLDQ� \DQJ�
GLJXQDNDQ�DGDODK�3HQHOLWLDQ�'HVNULSWLI�GHQJDQ�SHQGHNDWDQ�.XDOLWDWLI�PHQJJXQDNDQ�
GDWD�\DQJ�GLSHUROHK�GDUL�REVHUYDVL�GDQ�:ZDQFDUD�SHQJJXQDDQ�SHQGHNDWDQ�.XDOLWDWLI�
LQL� GLJXQDNDQ� XQWXN PHQGDSDWNDQ� *DPEDUDQ� WHQWDQJ� SHQHUDSDQ� 5HNUXWPHQ� GDQ�
6HOHNVL�� %HUGDVDUNDQ� WHPXDQ� DQDOLVLV� NHVHQMDQJDQ� DQWDUD� WHRUL� GHQJDQ� 5DQFDQJDQ�
5HNUXWPHQ�GDQ�6HOHNVL�WHUGDSDW�SHUEHGDDQ�SDGD�WDKDSDQ�WHV�EDNDW��WHV�PLQDW�GDQ�WHV�
SUHVWDVL� WLGDN� DGD� WDKDSDQ� WHUVHEXW� XQWXN� OHYHO� RIILFHU� GDQ� MXJD� SDGD� WDKDS�
SHPHULNVDDQ� UHIUHQVL�NDU\DZDQ� WLGDN� VHVXDL�GHQJDQ� \DQJ�DGD�GL� WHRUL��%HUGDVDUNDQ�
WHPXDQ�GDODP�SHQHOLWLDQ�PDND�GLUHNRPHQGDVLNDQ�XQWXN�PHODNXNDQ� WHV�NHPDPSXDQ�
GDQ�WHV�NRPSHWHQVL�WHUVHEXW��7HV�LQL�SHUOX�GLODNXNDQ�XQWXN�PHOLKDW�NHVHVXDLDQ� DQWDUD�
WXQWXWDQ� GDQ� SHUV\DUDWDQ� SHNHUMDDQ� GHQJDQ� NHPDPSXDQ� DWDX� NRPSHWHQVL� \DQJ�
GLPLOLNL�ROHK�NDQGLGDW�OHYHO�RIILFHU��
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